

DIFFERENTIAL EQUATIONS AND LAPLACE TRANSFORMS

SUBJECT CODE: 16SCCMM3

Unit- v

TOPIC: LAPLACE TRANSFORMS

Prepared by

Mrs. PRIYA,

HEAD, Assistant Professor of Mathematics,

AIMAN College of Arts and Science for Women,

Trichy-21.

LAPLACE TRANSFORMS

IMPORTANT QUESTION & ANSWERS

Result: First shifting property

If $L\{f(t)\} = F(s)$ then $L\{e^{-at}f(t)\} = F(s+a)$

Proof:

By definition,

$$L\{f(t)\} = \int_0^{\infty} e^{-st} f(t) dt = F(s) \quad (1)$$

$$L\{e^{-at}f(t)\} = \int_0^{\infty} e^{-st} [e^{-at}f(t)] dt$$

$$= \int_0^{\infty} e^{-st} e^{-at} [f(t)] dt$$

$$= \int_0^{\infty} e^{-(s+a)t} f(t) dt \quad (2)$$

By comparing (1) & (2)

$$L\{e^{-at}f(t)\} = F(s+a)$$

Q2 Find $L(\sin^2 2t)$

(2)

Solu:

$$\text{Since } \sin^2 2t = \left(\frac{1 - \cos 4t}{2} \right)$$

We have

$$L(\sin^2 2t) = L\left(\frac{1 - \cos 4t}{2}\right)$$

$$= \frac{1}{2} [L(1 - \cos 4t)]$$

$$= \frac{1}{2} L(1) - \frac{1}{2} L(\cos 4t)$$

$$= \frac{1}{2} \cdot \frac{1}{s} - \frac{1}{2} \cdot \frac{s}{s^2 + 4^2}$$

$$= \frac{1}{2} \left[\frac{1}{s} - \frac{s}{s^2 + 16} \right]$$

$$= \frac{1}{2} \left[\frac{s^2 + 16 - s^2}{s(s^2 + 16)} \right]$$

$$= \frac{1}{2} \left[\frac{16}{s(s^2 + 16)} \right]$$

$$L(\sin^2 2t) = \frac{8}{s(s^2 + 16)}$$

① example :

Find $L^{-1} \left[\frac{s}{s^2 - 16} \right]$

Solu :

$$L^{-1} \left[\frac{s}{s^2 - 16} \right] = L^{-1} \left[\frac{s}{s^2 - 4^2} \right]$$

$$\therefore L^{-1} \left[\frac{s}{s^2 - 16} \right] = \cosh 4t \quad \left(L^{-1} \left(\frac{s}{s^2 - a^2} \right) = \cosh at \right)$$

② example :

Find $L^{-1} \left[\frac{s}{s^2 + 9} \right]$

Solu :

$$L^{-1} \left[\frac{s}{s^2 + 9} \right] = L^{-1} \left[\frac{s}{s^2 + 3^2} \right]$$

$$L^{-1} \left[\frac{s}{s^2 + 9} \right] = \cos 3t \quad \left(L^{-1} \left(\frac{s}{s^2 + a^2} \right) = \cos at \right)$$

③ example :

④

$$\mathcal{L}^{-1} \left[\frac{1}{(s+2)^2 + 16} \right] = e^{-2t} \mathcal{L}^{-1} [F(s)]$$

$$= e^{-2t} \mathcal{L}^{-1} \left[\frac{1}{s^2 + 4^2} \right]$$

$$= e^{-2t} \mathcal{L}^{-1} \left[\frac{1}{s^2 + 4^2} \right]$$

$$= e^{-2t} \left[\frac{\sin 4t}{4} \right]$$

$$\mathcal{L}^{-1} \left[\frac{1}{(s+2)^2 + 16} \right] = e^{-2t} \left[\frac{\sin 4t}{4} \right]$$

Problem Identification

$$\text{If } \mathcal{L}^{-1} \left\{ \frac{s + \text{any term}}{(\text{Quadratic equation})^2} \right\}$$

$$\text{We have } \mathcal{L}^{-1} \{ F(s) \} = -t \mathcal{L}^{-1} \{ F(s) \}$$

(4) Find $\mathcal{L}^{-1} \left[\frac{s}{(s^2+a^2)^2} \right]$

Solu:

Assume that $F'(s) = \frac{s}{(s^2+a^2)^2}$

Integ on both sides w.r. to s

$$\int F'(s) ds = \int \frac{s}{(s^2+a^2)^2} ds$$

$$F(s) = \int \frac{s}{(s^2+a^2)^2} ds$$

Put $s^2+a^2 = u$

$$2s = \frac{du}{ds}$$

$$2s ds = du$$

$$s ds = \frac{du}{2}$$

$$\therefore F(s) = \int \frac{1}{u^2} \cdot \frac{du}{2}$$

$$= \frac{1}{2} \int \frac{du}{u^2}$$

$$= \frac{1}{2} \left[-\frac{1}{u} \right]$$

(6)

$$F(s) = -\frac{1}{2} \left[\frac{1}{s^2 + a^2} \right]$$

We have $L^{-1} [F'(s)] = -t L^{-1} [F(s)]$

$$L^{-1} \left[\frac{s}{(s^2 + a^2)^2} \right] = -t L^{-1} \left[\frac{-1}{2(s^2 + a^2)} \right]$$

$$= -t \times -\frac{1}{2} L^{-1} \left[\frac{1}{s^2 + a^2} \right]$$

$$= \frac{t}{2} L^{-1} \left[\frac{1}{s^2 + a^2} \right]$$

$$= \frac{t}{2} \left[\frac{1}{a} L^{-1} \left[\frac{a}{s^2 + a^2} \right] \right] \quad (\text{Multiple \& divide by 'a'})$$

$$= \frac{t}{2a} L^{-1} \left[\frac{a}{s^2 + a^2} \right]$$

$$= \frac{t}{2a} [\sin at]$$

$$\therefore L^{-1} \left[\frac{s}{(s^2 + a^2)^2} \right] = \frac{t}{2a} \sin at$$

⑤ Find $F^{-1} \left[\frac{s+2}{(s^2+4s+5)^2} \right]$

Solu:-

Assume that $F'(s) = \frac{s+2}{(s^2+4s+5)^2}$

Integ on both sides w.r. to s

$$\int F'(s) ds = \int \frac{s+2}{(s^2+4s+5)^2} ds$$

$$F(s) = \int \frac{s+2}{(s^2+4s+5)^2} ds$$

Put $u = s^2+4s+5$

$$\frac{du}{ds} = (2s+4)$$

$$\frac{du}{2} = (s+2) ds$$

$$\frac{du}{2} = (s+2) ds$$

$$\therefore F(s) = \int \frac{1}{(s^2+4s+5)^2} (s+2) ds$$

$$\therefore F(s) = \int \frac{1}{u^2} \frac{du}{2}$$

$$= \frac{1}{2} \int \frac{du}{u^2}$$

$$= \frac{1}{2} \left(-\frac{1}{u} \right)$$

$$= -\frac{1}{2} \left[\frac{1}{u} \right]$$

$$= -\frac{1}{2} \left[\frac{1}{s^2+4s+5} \right]$$

$$F(s) = \frac{-1}{2(s^2+4s+5)}$$

we have $L^{-1}[F'(s)] = -t L^{-1}[F(s)]$

$$L^{-1} \left[\frac{s+2}{(s^2+4s+5)^2} \right] = -t L^{-1} \left[\frac{-1}{2(s^2+4s+5)} \right]$$

$$= \frac{t}{2} L^{-1} \left[\frac{1}{s^2+4s+5} \right]$$

$$= \frac{t}{2} L^{-1} \left\{ \frac{1}{(s+2)^2 - 2^2 + 5} \right\}$$

$$= \frac{t}{2} L^{-1} \left\{ \frac{1}{(s+2)^2 + 1} \right\}$$

9

8

$$= \frac{te^{-2t}}{2} \mathcal{L}^{-1} \left[\frac{1}{s^2+1} \right]$$

$$= \frac{te^{-2t}}{2} \sin t$$

$$\therefore \mathcal{L}^{-1} \left[\frac{s+2}{(s^2+4s+5)^2} \right] = \frac{te^{-2t} \sin t}{2}$$

Find $\mathcal{L}^{-1} \left[\frac{s}{(s^2-1)^2} \right]$

Solu:

Here $F'(s) = \frac{s}{(s^2-1)^2}$

Put $u = s^2 - 1$

$$\frac{du}{ds} = 2s$$

$$\frac{du}{2} = s ds$$

$$\int F'(s) ds = \int \frac{s}{(s^2-1)^2} ds$$

$$F(s) = \int \frac{1}{(s^2-1)^2} s ds$$

(10)

$$= \int \frac{1}{u^2} \times \frac{du}{2}$$

$$= \frac{1}{2} \int \frac{du}{u^2}$$

$$= \frac{1}{2} \left(-\frac{1}{u} \right)$$

$$= -\frac{1}{2} \left(\frac{1}{u} \right)$$

$$= -\frac{1}{2} \left[\frac{1}{s^2-1} \right]$$

$$F(s) = \frac{-1}{2(s^2-1)}$$

We have $\mathcal{L}^{-1}[F'(s)] = -t \mathcal{L}^{-1}[F(s)]$

$$\mathcal{L}^{-1} \left[\frac{s}{(s^2-1)^2} \right] = -t \mathcal{L}^{-1} \left[\frac{-1}{2(s^2-1)} \right]$$

$$= \frac{t}{2} \mathcal{L}^{-1} \left[\frac{1}{s^2-1} \right]$$

$$= \frac{t}{2} [\sinh t]$$

$$\therefore \mathcal{L}^{-1} \left[\frac{s}{(s^2-1)^2} \right] = \frac{t \sinh t}{2}$$

Result :

$$\text{If } L^{-1} \left[\frac{s}{(\text{Quadratic equation})} \right], \text{ then } L^{-1} [s F(s)] = \frac{d}{dt} L^{-1} [F(s)]$$

⑦ Find $L^{-1} \left[\frac{s}{(s+2)^2} \right]$

solu:

$$L^{-1} \left[\frac{s}{(s+2)^2} \right] = \frac{d}{dt} L^{-1} \left[\frac{1}{(s+2)^2} \right]$$

$$= \frac{d}{dt} L^{-1} \left[\frac{1}{(s+2)^2} \right]$$

$$= \frac{d}{dt} \left[e^{-2t} L^{-1} \left(\frac{1}{s^2} \right) \right]$$

$$= e^{-2t} \frac{d}{dt} \left[L^{-1} \left(\frac{1}{s^2} \right) \right]$$

$$= e^{-2t} \frac{d}{dt} [t]$$

$$= \frac{d}{dt} [t e^{-2t}]$$

$$= [t e^{-2t} (-2) + e^{-2t} (1)]$$

$$= [-2t e^{-2t} + e^{-2t}]$$

$$= [e^{-2t} - 2te^{-2t}]$$

$$\mathcal{L}^{-1}\left[\frac{s}{(s+2)^2}\right] = e^{-2t} [1 - 2t]$$

Find $\mathcal{L}^{-1}\left(\frac{s-3}{s^2+4s+13}\right)$

soln
$$\mathcal{L}^{-1}\left(\frac{s-3}{s^2+4s+13}\right) = \mathcal{L}^{-1}\left(\frac{s}{s^2+4s+13}\right) - 3\mathcal{L}^{-1}\left(\frac{1}{s^2+4s+13}\right)$$

$$= \frac{d}{dt} \mathcal{L}^{-1}\left(\frac{1}{s^2+4s+13}\right) - 3\mathcal{L}^{-1}\left(\frac{1}{s^2+4s+13}\right)$$

$$= \frac{d}{dt} \mathcal{L}^{-1}\left(\frac{1}{s^2+4s+13}\right) - 3\mathcal{L}^{-1}\left(\frac{1}{s^2+4s+13}\right)$$

$$= \frac{d}{dt} \mathcal{L}^{-1}\left(\frac{1}{(s+2)^2 - 2^2 + 13}\right) - 3\mathcal{L}^{-1}\left(\frac{1}{(s+2)^2 - 2^2 + 13}\right)$$

$$= \frac{d}{dt} \mathcal{L}^{-1}\left(\frac{1}{(s+2)^2 + 9}\right) - 3\mathcal{L}^{-1}\left[\frac{1}{(s+2)^2 + 9}\right]$$

$$= \frac{d}{dt} \times \frac{1}{3} \mathcal{L}^{-1}\left(\frac{3}{(s+2)^2 + 9}\right) - 3 \times \frac{1}{3} \mathcal{L}^{-1}\left[\frac{3}{(s+2)^2 + 9}\right]$$

$$= \frac{d}{dt} \left[\frac{-e^{2t}}{3} \mathcal{L}^{-1} \left(\frac{3}{s^2+3^2} \right) - e^{-2t} \mathcal{L}^{-1} \left(\frac{3}{s^2+3^2} \right) \right]$$

$$= \frac{d}{dt} \left[\frac{e^{-2t}}{3} \sin 3t \right] - e^{-2t} \sin 3t$$

$$= \frac{1}{3} \frac{d}{dt} [e^{-2t} \sin 3t] - e^{-2t} \sin 3t$$

$$= \frac{1}{3} \left[e^{-2t} (3 \cos 3t) + \sin 3t (e^{-2t} (-2)) \right] -$$

$$e^{-2t} \sin 3t$$

$$= \frac{1}{3} \left[3e^{-2t} \cos 3t - 2e^{-2t} \sin 3t \right] - e^{-2t} \sin 3t$$

$$= e^{-2t} \left[\cos 3t - \frac{2}{3} \sin 3t - \sin 3t \right]$$

$$= e^{-2t} \left[\cos 3t - \frac{2 \sin 3t - 3 \sin 3t}{3} \right]$$

$$= e^{-2t} \left[\cos 3t - \frac{5 \sin 3t}{3} \right]$$

$$\mathcal{L}^{-1} \left(\frac{s-3}{s^2+4s+13} \right) = e^{-2t} (\cos 3t - \frac{5 \sin 3t}{3})$$

Result :

$$\text{If } \mathcal{L}\{f(t)\} = F(s), \text{ then } \mathcal{L}^{-1}\left[\frac{1}{s} F(s)\right] = \int_0^t f(x) dx$$

$$\therefore \mathcal{L}^{-1}\left[\frac{1}{s} F(s)\right] = \int_0^t \mathcal{L}^{-1}\{f(s)\} dt$$

examples :

⑨ Find $\mathcal{L}^{-1}\left[\frac{1}{s(s+a)}\right]$

Solu :

$$\mathcal{L}^{-1}\left[\frac{1}{s(s+a)}\right] = \int_0^t \mathcal{L}^{-1}\left\{\frac{1}{s+a}\right\} dt$$

$$\mathcal{L}^{-1}\left\{\frac{1}{s} \left\{\frac{1}{s+a}\right\}\right\} = \int_0^t e^{-at} dt$$

$$= \left[\frac{e^{-at}}{-a}\right]_0^t$$

$$= \frac{1}{a} [-e^{-at}]_0^t$$

$$= \frac{1}{a} \left[-e^{-at} \right]_0^t$$

$$= \frac{1}{a} \left[-e^{-at} - (-e^0) \right]$$

$$= \frac{1}{a} \left[-e^{-at} + 1 \right]$$

$$= \frac{1}{a} \left[1 - e^{-at} \right]$$

$$\therefore L^{-1} \left[\frac{1}{s(s+a)} \right] = \frac{1}{a} (1 - e^{-at})$$

Find the inverse transform using partial fractions.

⑩ Find $L^{-1} \left[\frac{1}{s(s+1)(s+2)} \right]$

Solu:

Let $F(s) = \frac{1}{s(s+1)(s+2)}$

Let us first resolve $F(s)$ into partial fractions.

$$\frac{1}{s(s+1)(s+2)} = \frac{A}{s} + \frac{B}{s+1} + \frac{C}{s+2} \quad (16)$$

$$\frac{1}{s(s+1)(s+2)} = \frac{A(s+1)(s+2) + B(s)(s+2) + C(s)(s+1)}{s(s+1)(s+2)}$$

$$1 = A(s+1)(s+2) + B s(s+2) + C s(s+1)$$

put $s=0$, we get

$$1 = A(2) \Rightarrow 1 = 2A, \quad \boxed{A = \frac{1}{2}}$$

put $s=-1$

$$1 = B(-1)(1)$$

$$\boxed{B = -1}$$

put $s=-2$

$$1 = C(-2)(-1)$$

$$1 = 2C$$

$$\boxed{\frac{1}{2} = C}$$

$$\therefore \frac{1}{s(s+1)(s+2)} = \frac{1}{2s} - \frac{1}{s+1} + \frac{1}{2(s+2)}$$

$$\mathcal{L}^{-1} \left[\frac{1}{s(s+1)(s+2)} \right] = \frac{1}{2} \mathcal{L}^{-1} \left[\frac{1}{s} \right] - \mathcal{L}^{-1} \left[\frac{1}{s+1} \right] + \frac{1}{2} \mathcal{L}^{-1} \left[\frac{1}{s+2} \right]$$

$$= \frac{1}{2} (1) - e^{-t} + \frac{1}{2} e^{-2t}$$

$$= \frac{1}{2} - e^{-t} + \frac{e^{-2t}}{2}$$

$$= \frac{1}{2} [1 - 2e^{-t} + e^{-2t}]$$

$$= \frac{1}{2} [e^{-2t} - 2e^{-t} + 1]$$

$$= \frac{1}{2} [(e^{-t} - 1)^2]$$

$$\therefore \mathcal{L}^{-1} \left[\frac{1}{s(s+1)(s+2)} \right] = \frac{1}{2} [(e^{-t} - 1)^2]$$

(11) Find $\mathcal{L}^{-1} \left[\frac{1+2s}{(s+2)^2 (s-1)^2} \right]$

(18)

Solu:

$$\text{Let } F(s) = \frac{1+2s}{(s+2)^2 (s-1)^2}$$

Let us first resolve $F(s)$ into partial fractions

$$\frac{1+2s}{(s+2)^2 (s-1)^2} = \frac{A}{(s+2)^2} + \frac{B}{(s-1)^2}$$

$$\frac{1+2s}{(s+2)^2 (s-1)^2} = \frac{A(s-1)^2 + B(s+2)^2}{(s+2)^2 (s-1)^2}$$

$$1+2s = A(s-1)^2 + B(s+2)^2$$

Put $s=1$, we get $1+2 = 3^2(B)$

$$3 = 9B$$

$$\frac{3}{9} = B \Rightarrow \boxed{B = \frac{1}{3}}$$

Put $s=-2$, we get $1+2(-2) = 9A$

$$1-4 = 9A$$

$$-3 = 9A \Rightarrow \frac{-3}{9} = A$$

$$\boxed{A = -\frac{1}{3}}$$

$$\therefore \frac{1+2s}{(s+2)^2(s-1)^2} = \frac{A}{(s+2)^2} + \frac{B}{(s-1)^2}$$

$$\therefore \frac{1+2s}{(s+2)^2(s-1)^2} = \frac{-1}{3(s+2)^2} + \frac{1}{3(s-1)^2}$$

$$\mathcal{L}^{-1} \left[\frac{1+2s}{(s+2)^2(s-1)^2} \right] = -\frac{1}{3} \mathcal{L}^{-1} \left[\frac{1}{(s+2)^2} \right] + \frac{1}{3} \mathcal{L}^{-1} \left[\frac{1}{(s-1)^2} \right]$$

$$= +\frac{1}{3} \mathcal{L}^{-1} \left[\frac{1}{(s-1)^2} \right] - \frac{1}{3} \mathcal{L}^{-1} \left[\frac{1}{(s+2)^2} \right]$$

$$= \frac{1}{3} e^t \mathcal{L}^{-1} \left[\frac{1}{s^2} \right] - \frac{1}{3} e^{-2t} \mathcal{L}^{-1} \left[\frac{1}{s^2} \right]$$

$$= \frac{1}{3} e^t t - \frac{1}{3} e^{-2t} t$$

$$= \frac{t}{3} [e^t - e^{-2t}]$$

$$\therefore \mathcal{L}^{-1} \left[\frac{1+2s}{(s+2)^2(s-1)^2} \right] = \frac{t}{3} [e^t - e^{-2t}]$$

Solve ordinary differential equations with constant co-efficients.

If $L[y] = \dots$ then (i) $L(y') = sL(y) - y(0)$

(ii) $L(y'') = s^2L(y) - sy(0) - y'(0)$

2) Solve the equation $\frac{d^2y}{dt^2} + 2\frac{dy}{dt} - 3y = \sin t$

given that $y = \frac{dy}{dt} = 0$ when $t=0$

Solu:

The equation can be written in the form

$$y'' + 2y' - 3y = \sin t$$

Applying Laplace transforms on both sides,

we have

$$L[y'' + 2y' - 3y] = L(\sin t)$$

$$L(y'') + 2L(y') - 3L(y) = L(\sin t)$$

$$s^2L(y) - sy(0) - y'(0) + 2(sL(y) - y(0)) - 3L(y) = L(\sin t)$$

$$s^2 L(y) - s(y(0)) - y'(0) + 2 \{ s L(y) - y(0) \} - 3 L(y) = \frac{1}{s^2+1}$$

substituting the values of $y(0)$ & $y'(0)$ in the equations

$$s^2 L(y) + 2 \{ s L(y) \} - 3 L(y) = \frac{1}{s^2+1}$$

where $\bar{y} = L(y)$

$$s^2 \bar{y} + 2s \bar{y} - 3 \bar{y} = \frac{1}{s^2+1}$$

$$(s^2 + 2s - 3) \bar{y} = \frac{1}{s^2+1}$$

$$\bar{y} = \frac{1}{(s^2+1)(s^2+2s-3)}$$

$$\bar{y} = \frac{1}{(s^2+1)(s-1)(s+3)}$$

Let $F(s) = \frac{1}{(s^2+1)(s-1)(s+3)}$

Let us first resolve $F(s)$ into partial fractions

$$\frac{1}{(s^2+1)(s-1)(s+3)} = \frac{Cs+D}{s^2+1} + \frac{A}{s-1} + \frac{B}{s+3}$$

$$\frac{1}{(s-1)(s+3)(s^2+1)} = \frac{A}{s-1} + \frac{B}{s+3} + \frac{Cs+D}{s^2+1}$$

$$1 = A(s+3)(s^2+1) + B(s-1)(s^2+1) + (Cs+D)(s-1)(s+3)$$

Put $s=1$, we get $1 = A(4)(2)$

$$1 = 8A \Rightarrow \boxed{\frac{1}{8} = A}$$

Put $s=-3$, we get $1 = B(-3-1)(9+1)$

$$1 = B(-4)(10)$$

$$1 = -40B$$

$$\boxed{-\frac{1}{40} = B}$$

Equating the coefficient of s^3

$$A + B + C = 0$$

$$\frac{1}{8} - \frac{1}{40} + C = 0 \Rightarrow C = -\frac{1}{8} + \frac{1}{40}$$

23

$$C = \frac{-5+1}{40}$$

$$C = -\frac{4}{40}$$

$$C = -\frac{1}{10}$$

Equating the co-eff of s^2

$$A + B + 2D - 3C = 0$$

$$A + B - 3C = -2D$$

$$\frac{1}{8} - \frac{1}{40} - 3\left(-\frac{1}{10}\right) = -2D$$

$$\frac{1}{8} - \frac{1}{40} + \frac{3}{10} = -2D$$

$$\frac{5-1+12}{40} = -2D$$

$$\frac{16}{40} = -2D \Rightarrow \frac{16}{-2 \times 40} = D$$

$$D = -\frac{1}{5}$$

$$\frac{1}{(s-1)(s-3)(s^2+1)} = \frac{A}{s-1} + \frac{B}{s+3} + \frac{Cs+D}{s^2+1}$$

$$\frac{1}{(s-1)(s-3)(s^2+1)} = \left[\frac{1}{8(s-1)} - \frac{1}{40(s+3)} - \frac{\frac{1}{10}s - \frac{1}{5}}{s^2+1} \right]$$

$$f^{-1} \left[\frac{1}{(s-1)(s+3)(s^2+1)} \right] = \frac{1}{8} f^{-1} \left[\frac{1}{s-1} \right] - \frac{1}{40} f^{-1} \left[\frac{1}{s+3} \right] - \frac{1}{10} f^{-1} \left[\frac{s}{s^2+1} \right] - \frac{1}{5} f^{-1} \left[\frac{1}{s^2+1} \right]$$

$$= \frac{1}{8} e^t - \frac{1}{40} e^{-3t} - \frac{1}{10} \cos t - \frac{1}{5} \sin t$$

$$\therefore y = \frac{1}{8} e^t - \frac{1}{40} e^{-3t} - \frac{1}{10} \cos t - \frac{1}{5} \sin t$$

UNIT - V Completed